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Perhaps it is not so — N9 XD RADYT

OVERVIEW

X701 27 stated that the argument between 71271 X"1 regarding 72 is whether
we maintain 7P 22IXY anw 03pn2 1'vah 0907 (the view of X'™), or not (the
view of the 7127). X995 217 rejected this interpretation and said that it is
possible that the argument between 71271 X" is regarding other issues; not
n"va% 0910, Our MdOIN qualifies the seriousness of s'%9D 27 rejection.

— NN Nnbya N7
This (rejection of X701 27 by '%95 11) was a mere rejoinder” -
$(2,79 97 mama) NIP Y DIINNRY ANY DIPNA 21N HYaL DN NITNA NP NN N9 297
For xop 27 explicitly’ maintains that 737 X5 29185 amw 21p»a n''a» eons.

SUMMARY
XDD 27 maintains 73p X2 0°IR? 20w 2pna 025 090 (agreeing with X701 27).

THINKING IT OVER

In the case of 7x® there is the concept of 712> 1 *31 PwdI7 *317 Br.* a1
who maintains that 71p X% 121 1"2% 0907 agrees that *73p 117209 X% 7237
since "1 Pwol? *o17 . When X70m 27 stated that the np12nn by 7R9 is
dependent on n"2% oonn, it turns out that the 0°»51 who maintain by 7R
(where there is a 121 %2717 1) that 717 X% will also maintains that 7X°%7 72237
1772 is also I RY (since they do not say "1 w912 317 1an). This is what
X995 27 challenges, that even 271¥°2X ' maintains 1P &7 1""2% 09107, and here
he is 711p since there is a 1a», and similarly the 1127, even though there is a 1»
by %9, nevertheless he is not 7117 since there is a P105. However, all agree
that 73p XY 1""2% 091077 and 7P 1AM AX°¥A 7! What is mooin question?!®

" Tt would appear from the response of 99 21 that even the 1321 maintain 7P 2 X> anw 2PR2 1"22 09N,
and the reason the °1¥ is not 71p (by X9) is because there is a P15 which prohibits gathering for an °1v. This
would indicate that 99 27 maintains 73p 1"2% 09107, therefore he wants to argue that the 1337 also maintain
71p. However, this is not so, as M»on points out.

? Xo9 21 was merely saying that it is possible that their np1>mn is based on other issues, so there is no
conclusive proof from this np17mA that the 3327 maintain 717 82 2°nK? 2nw Dpn1a 1'"'3% 0900,

? This is in the story with 1wn 92 > (see 0907 7"7 2,8° '0In [footnote # 2]), who sent a %W to seize the
ship; ¥99 21 (and °"172777) told the agent that his Xo°n is meaningless since 71p X2 X"7nwnanaon:.

* Either one 1 if it is *1% *1w» or two W if it is 2195 Pwy» (see 2,u n'"2).

> See previous (2,?) 3 7"7 MoOIN.

® See m"nx # 5-7.
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